5x+3y<x+6

@ 2x—3y <12
Iz

y‘l b y,1;
+ 5 MX 4 o HX 5 HX
- 'Jr r
L Quadrants |, II; K Quadrants I, Ill, IV; F All four quadrants;
excludes boundary line. excludes boundary line. excludes boundary line.
W Quadrants I, lll; U Quadrants II, Ill, 1V; P Quadrants |, II, Ill; *
excludes boundary line. includes boundary line. excludes boundary line.
- G Quadrants |, Ill; | All four quadrants; "M Quadrants |, Ill, IV;

excludes boundary line.

includes boundary line.

(0 2(x—y)=5

excludes boundary line.

(1) sy-2=8x—7

@ 3x+y>0
V4

y“. yAL
¢ 5 X 4 5 HX o "X
R Quadrants |, Il, 1V; Y All four quadrants; N Quadrants |, lll, 1V;
excludes boundary line. excludes boundary line. excludes boundary line.
L  All four quadrants; U Quadrants II, lll, IV; B All four quadrants;
includes boundary line. includes boundary line. includes boundary line.
M Quadrants I, lll, IV; A Quadrants I, lI, IV; D Quadrants |, II, IV;
excludes boundary line. includes boundary line. includes boundary line.
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